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HEHET 3B(60cmET) m 268
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fHEERRUIERr T IV — AR 15cmBL T m 1377 1377 150 0.92
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SHEUET L= ( 0.8 x 2 + 15 x 2 ) x 1 = 5.0 m
R A= 0.80 X 1.50 X 1 = 1.2 m
ASEHEI -T2 V= 0.80 X 1.50 X 1.45 X 1 = 1.7 m
BRI (L) V= 0.80 X 1.50 X 0.63 X 1 = 0.7 m
BRI (RERAY) V= 0.80 X 1.50 X 0.20 X 1 = 0.2 m
Kt V= 1.7 - ( 0.7 + 0.9 ) X 1 = 0.9 m
ASFE - 5 V= 0.80 X 1.50 X 0.05 X 1 = 0.1 m
EFERRAET(C-20) A= 0.80 X 1.50 X 1 = 1.2 m
T E&HE T (RC—40) A= 080 X 1.50 x 1 = 12 m
SEREIR A= SEBRBHHRIICEC = 12 m
(BHEHEHEA(13)t=3cm P1-})
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LT T L= (080 X 2 + 15 x 2 ) x 1 = 5.0 m
SHEMRETT A= 0.80 X 1.50 x 1 = 1.2 m
AN EHI-FEA V= 0.80 X 1.50 x 1.40 X 1 = 1.7 m
BRI (L) V= 0.80 X 1.50 x 1.10 x 1 = 1.3 m
BRI (BRERAD) V= 0.80 X 1.50 X 0.20 x 1 = 0.2 m
bz Jn 18] V= 1.7 - ( 1.3 + 0.9 ) X 1 = 0.3 m
Cor%iEHik- 5 V= 0.80 X 1.50 X 0.10 x 1 = 0.1 m
T Ei&# T(RC—40) A= 0.80 X 1.50 x 1 = 1.2 m




